EARAZROREIERT — 2 N—XBISY —F 2019528168 () 21@Hx&E1H

mr’cﬂ%##?yﬂ B ¥5%3m®Lt B R
[AE4£] 1 7% :550,000 @ ~ 23#&:165,000  ~ 3 #&:55,000H ~ 43#&:33,000H”  53&:22,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. [iim}2) 129, ~5-5- . — REM (&B)
i NEZES i 4 an 1(2_9)8 6-5-5-2 | 37.8 1 (4_228) ﬁ;;ﬁ =
R:T7yvis—L B:ZVA/—-TI Tp—3I TYFE4L
Ho4 | BEED 1:29.9 3-4-2-3 [38.2| — 3 489 | =/\EEA (£E)
ol5|5| A3 56.0 (7 E) () | ERER
:O0-K7h71% BFLEITvRIL [ITj w7
TR o6 | AMALZ 1:30.1 5-6-6-5 |38.0 | — 4 503 | EE—K (EH)
317|7 TUFH N 54.0 (1 1/4) (+5) FEFH -
LN >F— B:7O0-T714—IK #E 5H
—: —: 4 5 i 1:30.6 7-7-7-6 | 38.2| — 7 471 | ABERX (ER)
4189 e/ I—F) 54.0 (2 1/2) (-3) (R) J P NFZHf
NNVTZY Biax/oA4—-2 BRES  f2AEB
N alllEs :30. -8-8- 8| — ARER (ER)
5 61 Y MLAL R — 8 an 1(730t)6 8-8-8-7 |37.8 5 (5_113) o) gﬂt{&tﬁg
A4 avy Ly BN—TITF—=2 Jsw  IETE
S o4 | SHIESE 1:30.8 4-3-4-4 [38.9| — 2 482 | ABRK (ER)
6l1l1| Y27 FAX= 56.0 (1 1/4) 1) | (B J P NHH
R:FLTANZ N B:NTY RS b Eliztve]
Y5 4 5 | WTHE 1:31.1 1-1-1-1 | 39.6 | — 9 497 | RBRE (£H)
7 4| ¥Tvea Y 56.0 (11/2) o) |FEE
L:ZY T b=y —FK—F BHIITHLINZRT B
TN BB : -9-9— — REM (&H)
8 0| &y FRTUL i 5 o 1.(352).0 9-9-9-9 | 39.1 6 ;1_165) 5@4&%&&
LR T RALU N By F I RAA IR IE
ST U AS — Ho6 | WAEE 1:32.2 2-2-3-8 |40.4| — 8 507 | EE—K ({EH)
9|88 ELyYINRT 56.0 (1 1/4) (-6) AL
L:hzxexy BEVI-— 1 B4035%
® I—F—@EBIERL
|S=7r= 4,8,5,1,7,3,9,6,2
Ao=5"= 4,8,1,5,3,7,9,6,2
3T—7— 4,5,8,1,3,7,9,6,2
41—F— 4,3,5,1,7,9,6,8,2
[ N5
B 3 200 794K 3-5 230 & 3-5 490 &R 3-5-7 1,670M
# B 3 110M =1 400 B E Bg0 560 EE ST 4,820
5 140 5-7 810M B H 3-5 850M
7 230

ABICOVWTRDTEEERROODE. TR LIV,



